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SECTION A (40 marks)
{Attempt 21l qu&stionsﬂ'omﬂlisSecﬁon-)

Question 1
a) Solve the foliowing inequa‘éon,mﬁaﬁaesowﬁonsetaxﬁrapresaﬁﬁmﬁ‘ﬁ
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I4r. Sharmma buys 60 shares of nominal value of T 100 and he decided to ssil
tham when they are ata premium of 60%. He invests the procesds in shares of

nominal value T 50, quoted at Z 48, paying 18% dividend annually. Catculate:

(1 the sale proceeds

(i) the number of shares he buys
(i) the annual dividend from these shares.

b)

B
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Question 2

Y4 247 - Bax — 7 and
; e polynomiat x . |
a o the re nder when the p ‘ TR e B
) Ry and R» are the remnl : bl il St '
x? 4 A’ — 12x + B are divided by X and » Z respectively : 3

find the value of a.
. &inZA
b) Prove: cos*A — cos?A = sin*A = sin

ked one over the other. 20 logs in bottom row,- 19 in the riext
c) 200 logs are stacke xt to it and so on. In how many rows 200 logs are placed
row, 18 in the row ne W
and how many logs are there in the top ro

Question 3

2 b a 6 2 4 a+b
a) Finda, b, ¢, d: if 3[0 d]a{gq 2d c+d 3

b) IfA (-2,-1), B (a, 0),C (4, b)and D (1, 2) are vertic

es of a parallelogram, fing
the values of a and b.

empties the bucket on the ground and makes
height of the conical heap is 24

i) its radhjs

i) its slant height.

cm, find:

Auestion 4

)

tween a ang C, prove that:

& abC(a+b+c)3=(ab+bC+ca)3
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a) A box comain v
al a random from tha bor, find the protabdty that @ (28

iy Atwo - digit number,
Iy A perfoct square number. , o

iy A number divisible by 5.
deponitet ? 7SS

" - £
b) Mr. Gupta opened a Recurring Deposit / ecount in 3 B2 ;‘?" Fi z c2te
per month for z%ara, At the time of maturity, he gets 2 i ’ =

interest per annum,

Using a graph paper, plot A (4,6) and B (1.2)-

c)
i) Reflect Ain X — axis to get the images A'.
i) B'is the image of B, when reflected in fine AA.
i) Give the geometrical name for the figure AEAE.
iv) Find the area of figure AB'B. “l
Question 6
a) On a map dravm to a scale of 1: 50000, 2 rectangular plot of land FECD n==
the following dimensions. AB = 6cm; BC = 8cm and all angles are right angles-
Find:
i) The actual length of diagonal distance AC of the plot n km.
i) The actual area of the plot in sq.km.
b) Tha 4th term of 5 G. P. is square of its second term and the firstterm is -3.
Determine the G.P.
c) A soiid is in the form of a cyiinder with hemispherical ends. The total heighl of

the solid is 12cm and the diameter of the cyfinder is 7cm. Find the volume and

total surface area of the solid.
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a) In the (lvarn Niguire,

AOAC = 30
3G 131y,

le such that
Al )y dinmetsr andg AC is n chord of a r,":' a that
rov
The tanger 1 Cintsrancis AR produced at D. f

sy (3) ‘
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b)

Prove: 2eesc? A B80C A ~ 2cosecin + CoOBOC’A » copip tan*A (3]
48In30° cos0”

c Cive natr| =

‘ T AHIA I cos0° flelnao"] e d

3] Writes the order of matriy b4

()]

Find the maltrix %,

4
MAL =@,
5,] TAX =

[4)
Question g

n) Whieh term of AP, 3, 18, 27, 39,

....... Wil be 120 more than its 21% (e
b)

(3

31, ¥, 37, 40, 42, 4

3, ind the new meodian, 3]

c) Construct a trlangle App tuch that AR = Scm, BP = 2¢m and ZABP = 30*
Complets rhombug ABCD

such that p (g equidistant from AB and BC.

5, 18138) find %, In these data,
If45 |g changed 1o 2

Question 9
a)

4]

Using €omponendo and dijyig

V3% 44 4 V3x -5
M Aelinll by =0
V3x .4 4 - JV3x -5

If the image of the point A (2,1) with respect to the mirror line be A’ (5,2), find
the equation of the mirror line,

endo, find the value of ¥

)
b)
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c) In the given figure, ABCI is o quadrilateral, inscribed in A citele yith enntre €

Side CD is produced to E. Il Z/ADE= 95" and ZOBA = 307, find.
i) ~0BC

i) ~OAC

(4]

_Question 10
a) A man invests ¥ 30000 in 15% T 110 shares at ¥ 120. When the share rises 10

T 130, he sells out enough shares to purchase a scooter for T 39g0. Find:
i)  the number of shares he still holds. AP
(
ii) the annual change in his income.

r g

4]

" —

b) The monthly income of a group of 320 employees in a company is given below.

Monthly Income (in%) | Number of employees
6000 — 7000 20
7000 — 8000 45
8000 — 9000 65
9000 - 10000 95
10000 — 11000 60
11000 — 12000 30
12000 - 13000 ]

Draw an ogive for the given distribution on a graph sheet taking 2cm =¥ 1000
on one axis and 2cm = 50 employees on the other axis, From the graph
determine:

i)  The median wage.
ii) The number of employees whose income is below X 8500.

i) If the salary of a senior employee is above I 11500, find the number of
senior employees of the company.

iv) The upper quartile.
N
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Question 1

a) Divide 16 into two parts g

uch that twice the square of the
the square of the Smaller

larger part exceeds
Part by 164, [3]
b) Find the amount of bill for the following Intra-state transaction of goods. The
rate of GST is 12%,. [3]
MRP (in ¥) Discount (in %)
300 15
250 10
400 S
150 20
A ving at a uniform
. rtical tower observes a car mo
man from the top of a ve . the angle of
- . ing directly towards him. If it takes 12 minutes to change the r "
speed coml:':Q 30° to 45°, how soon after it, will the car reach the tower.
depression from '
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